Measure — Length and Measure

5mm 5cm

1m and 30cm

4em 6mm

/b

100 centimetres = 1 metre

@ 0 10 millimetres = 1 centimetre

50mm = 5cm
54mm = 5cm and 4mm

6mm < 6cm 14cm + 19cm = 33cm 6m - 2m 28cm
6cm = 60mm 8cm 2mm + 16mm = om - 2m = 4m
6mm is shorter than 6cm 98mm or 9cm 8mm 4m - 28cm = 3m 72em
320cm > 2m 60cm ? 6m
320em > 200cm + 60cm Bcm 2Zmm | 16mm Z2m 28cm | ?
320cm is longer than 2m 60cm 82mm 16mm

98mm < 1Z2cm 3mm
98mm < 120mm + 3mm

98mm is shorter than 12em 3mm

S5cm

5cm

5

perimeter = 20cm

6cm + 6cm = 12em

3cm + 3cm + 20cm - 12cm = 8cm

S5cm + 2cm + S5cm + 3em + 3cm
sssseee= perimeter 2cm = ldcm 3em = 15em

8cm + 2 = 4cm




